103# &K #8405 e 45 (G 73

Yk 1030218 | 1030514
Gk E T | A5 CNIS L
— |- #ROM kT
- o |- bk B<1
A o |2 aokp B<1
H e AR K
o |7 ROS K-
o |- WAk C101
o[ <[ s €102
% |z mak 103 2 | <
| ol bk C104 <1
10 |7 oK C105 <1
11 |- ok 201
- 12 |- #ac-k €202
2| 13 [z 14k C203 <1 <1
Fl 14 [z oor €204 <1
15 |7 #ec-k €205 <1
16 [# = 24k €301
s 17 |+ 7 2ROd -k
"8 |- ek €302 <1
BT ETYS €303 <l
20 |= RO k- <1
21 |- sk (E=) C401
22 |- bk (E=) C402 <1
23 |z b ki (E=) C403 <1
24 |- HACRB(RR) C404
Fl o5 |z macrpcen) C405
=26 [z murpG) C406 <1
NEREZITED C407 <1
28 |- k() C408 <1
29 |- ks (i) €409 <1
30 |z ks (i) C410
31 |22 % m <1




32 lisdl4s
33 |- He4ok s 501 <1
34 |- sk 502
/ 35 |- 4ok €503 <1
i 36 |- ok (504
% 37 |z ks €505 <1
38 = o4k 506 <1
39 |7 4ok 507
40 |= Hedok s 508 <1
A1 |- sk s 509 <1
42 |3 - gk C510
43 | 4o bk 511 <1
g | 44 [z sk 512
B 45 [ e sk C513 <1
| 46 | - W4k 514
A7 |% o bk C515 <1
48 |= = A K18 Col6 <1
XAERGY KRR E QRF 5 FAUEFREFF AP o
WAL R FEE 2 BB LR o B TR S

XORFHRE D R 2 FEME<C 100 mg/L 0 2 F#<100 MPN/100 mL @ 3~ %% FHE



1030815 | 1031110
<1
B<1
B<1
<1
<1
<1
<1
<1
<1
<1
<1
<1
<1
<1
<1
<1
<1
<1
<1

<1




<1
<1

<1
<1
<1

<1

<1
<1
<1

<1

£<6 MPN/101 mL -



	Sheet1

